
РАСЧЕТ УСИЛИТЕЛЯ НИЗКОЙ ЧАСТОТЫ

Вариант Тип транзистора Rk, kOm Ue, V f, Hz

1 ГТ322Б 320 2,0 3500

2 КТ347Б 360 2,5 3000

3 КТ373Б 250 3,0 4000

4 КТ342Б 270 2,6 5000

5 КТ3107Б 300 2,4 2500

6 ГТ322А 310 2,3 4500

7 ГТЗ09Б 180 1,3 2000

8 ГТ320А 200 3,2 3000

9 ГТ321Б 240 3,0 5000

10 КТ312Б 240 2,5 4000

11 КТ315Б 300 2,0 2000

12 ГТ308Б 300 2,5 2000

13 КТ349Б 300 3,0 5000

14 КТ3102А 200 1,8 5000

15 КТЗ42Б 200 2,0 5000

16 КТ3107А 200 2,4 2000

17 КТ373Б 200 2,0 2000

18 КТ361Б 500 3,1 2000

19 ГТ328Б 400 3,0 5000

20 ГТ320Б 300 2,5 2000

21 МП 105 250 2,5 2000

22 ГТ108Б 300 2 4000

23 МП111 350 1,2 2000

24 КТ301 300 2 2500

25 КТ306Г 300 2 3000
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